ALGEBRA

CHAPTER 9-5
NOTES

Factoring 
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I.  When a and b are positive.

Factor the following  
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2.  Fill in the “for sures”  
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  These are the terms that can be obtained only one way.
3.  List the factors of 12 by pairs
1, 12

2, 6

3, 4

4.  Look at the sign on the 12.  Since it is positive, we are looking for a sum of 7 from the factors.  1 + 12 = 13, 2 + 6 = 8, 3 + 4 = 7  We will be using the factors 3 & 4
5.  Fill in the factors
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When factoring, your answer will be determined with the following steps.  I have numbered which of the steps above were used in each of the lines.
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Factor.
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II.  When b is negative
Factor 
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**Since 15 is positive, the signs are the same.

**Since 8d is negative, the signs are both negative.

Factor.
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III.  When c is negative

Factor 
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Since 27 is negative, the signs must be different

Since 6m is positive, the largest product must be positive.
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The factors of 27 with a DIFERENCE of 6 are 9 & 3.  Since the b term (6m) is positive, the 9 must be positive.
Factor.
When the c term is negative, fill in the “for sures”.  Not only is this the way to get the squared term, but also the signs must be different.
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IV.  Factoring with two variables

Factor.  
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***Treat just like one variable.

Factors of 
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Factors of 
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Factor
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In these problems, there are more “for sures”.  Filling in the parentheses will look like this:
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